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lagr_asym_us_avg (ppb) 1D pull distribution
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lagr_asym_us_avg RMS (ppm)
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lagr_asym_us_dd (ppb) 1D pull distribution

3000 X2 / ndf 69.9/80
- Mean  -0.005047 *0.1032
- p0 12.98 + 100.6 -
20 B Std Dev 0.929 +0.07299
2000 3
18-— Underflow 0
° [
N Overflow 0
1000 16k
I X2/ ndf 10.44/4
> -
0 B T I 14 Constant 15,11+ 2.50
L ‘ l 1 L Mean 0.08104 + 0.25889
= 12~
—-1000 L L Sigma 1.111+0.233
- < 10
-2000 — sl
- oL
_2nnn RN NN NN NN RN NN NNy 3
15 : ; L
l 4_
0.5E i
0 L
-0.5E r
-1 :
_1.5 0||||| |||||||||| II|III




lagr_asym_us_dd RMS (ppm)
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